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Score

If angle of U is (x + 17)0, "nd the value of x and y.1)
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The triangle CDE is isocesles triangle. Find the angle of ACD.2)

Find x and y.3)

The angle of QRP and QPR are 480 and 330 respectively.
Find the angle of RPX, PQY and QRZ.
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Answer key

If angle of U is (x + 17)0, "nd the value of x and y.1)
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x = 20 and y = 100

The triangle CDE is isocesles triangle. Find the angle of ACD.2)

The angle of ACD is 760

Find x and y.3)

x = 160 and y = 250

The angle of QRP and QPR are 480 and 330 respectively.
Find the angle of RPX, PQY and QRZ.
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RPX = 1470, PQY = 810, QRZ = 1320


